ECON-301

Homework #1

Dr. Kelton

Homework is due at the beginning of class on Tuesday, March 1. You should make a photocopy of your (finished) homework so that you can make corrections and study from the assignment. I will go over the assignment in class on Tuesday. For this reason, no late homework can be accepted. 
[25 points]

1. Define (in words) GDP.

2. Why can’t we compare nominal GDP in two different years? What measure of GDP can we use to make inter-temporal (i.e. over time) comparisons?

3. Explain the difference between GDP and GNP.

4. Write down a formula for calculating the unemployment rate. Do official rates of unemployment probably over- or under-estimate the true extent of the unemployment problem in the United States?  Explain.
5. How does a country’s trade balance impact the well-being of its citizens?

6. In macroeconomics, we focus on the spending decisions made by each sector in the economy. List the four sectors and the type of spending done by each.

7. Draw the 5-diagram Classical Model. Label the equilibrium real wage, the equilibrium level of output, the equilibrium price level, the equilibrium nominal wage, and the equilibrium interest rate.

8. Use the information below to answer questions a. –e.

Year

Nominal GDP

GDP deflator

Real GDP

1993

$6,642.3 billion
94.16


1996

$7,813.2 billion
100.0


1999

$9,477.1 billion
104.99_____________________                                           

a. Calculate real GDP in 1993, using 1996 as the base year.
b. Calculate real GDP in 1999, using 1996 as the base year.

c. Why is real 1993 GDP higher than nominal GDP in 1993?

d. Why is real 1999 GDP lower than nominal GDP in 1999?

e. How much of the increase in nominal GDP from 1996-1999 was due solely to inflation?

9. Can you have unemployment in the Classical Model?  Explain your answer carefully.

10. Is household saving harmful or beneficial in the Classical Model? What about the 

Keynesian model? Explain carefully how increased saving affects output and    employment in each model.

11. Write down everything you know about the MPC.

12. What do all of the points along the Keynesian cross (i.e. the 45° line) have in common. Be specific!

Given the following information, answer questions, 13-20.
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a = $30 billion
MPS = .05

u = $4 billion

I = $40 billion

v = .02
T = $45 billion

X = $5 billion
13. What is the equilibrium level of GDP?
14. Calculate the value of the vertical intercept of C + I.

15. Is there a government surplus or deficit? How large is it?

16. Is there a trade surplus or a trade deficit? How large is it?
17. Suppose the government wants to move the economy to full employment, which it believes is consistent with GDP = $1 trillion (or $1,000 billion). How much additional government spending would it take to accomplish this goal?

18. Suppose the government prefers to cut taxes in order to move to Yf. How large a tax cut is need to do the same job? 

19. Draw the aggregate demand curve AD = C + I + G + (X-M) onto the graph. Be sure to position it correctly, given your answer in Q.16. Label the vertical intercept.

20. Write down a definition for the recessionary gap?  In this example, what is the size of this gap?
Y





Exp.





C + I + G





C + I





C=a + bY





45°





Y





    


     $120B








